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Note: Attempt questions from all Sections as per 

instructions. 
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Section-A 

(Very Short Answer Type Questions) 

Answer all the five questions. Each question 

carries 3 marks. Very short answer is required not 

exceeding 7 5 words. 3x5=15 

cnT t I ~ 75 ~~ if ~ ~ ~ ~ 

t, 

~ "Statistics is a Science of Counting." Explain. 

"·~~ Bl Jl 0111 cnf ~ ~ 1" ltjtjtj,·11 - I 

2. ~ What are the n1ain limitations of Statistics? 

BiR¼~ cfil~fficF{T~? 
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From the following continuous series prepare the 

(i) less than (ii) more than cumulative series : 

Pl'"'1ifcbe1 ff Id~ -M "ij (i) "ij q5lf (ii) "ij • ffl" 

M ◄11~({: 
0-10 8 

12 



-

( ) 

1 0 10. 

Section-B 

(Short Answer Type Questions) 

Ansv. er any two questions out of the follov. ing 

three questions. Each question carries 7½ marks. 

Short answer is required not exceeding 200 
word. 

71 x2 15 

iUMn: I !Wlcfi JJ~~ 7½ '3fc6f cf)f ~ I '3ffet41tP1 ?()() 

:, • 
1 'f!Ji°3ut~i I J 
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In the frequency distribution of 100 fainilies given 

below, the number of families corresponding to 

expenditure group 20-40 and 60-80 are missing 

from the table. However, the median is known to 

be 50. Find the missing frequencies: 

~ ~ ~ 100 qf<c111 c6 • fcta<01 if 20-40 

~ 60-80~ ctJl\~ij "6 R~ qRc11<1 c5t-

RlcbtRttt : 

Expenditure Number of Families 

(\) 
0-20 14 

/ 20-40 ? 

40-60 27 

.....60 - 80 ? 

80 -100 15 
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(6) 

The size of the collar of200 students in a college it 

given below. Find out the modal size of the collar, • 

fc1ffir fcl~l(.'14 if 200 m:ij c6f ffl{ llN ~ ~ 

if~% I c!JRiR c6f ~ llN ~mfm ~ : 
Collar Measurement l 

Size of Collar (cm.) 

32 4 

33 

34 

35 

36 

37 

38 

39 

40 

41 

11 

27 

25 

32 

31 

13 

11 

33 

13 _I 

8. Calculate mean and . median fro111 the .r..oll . 
data: i1 owmg 
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Pl'1ifchtt ffi ~ f\1-fl.tj{ ~ ~ ~ ffl 

~ : 

Wages No. ofWorkers 

( \ ) 

Lessthan8 5 

Less than 16 12 

8-24 29 

24andabove 31 

32-40 8 

40andabove 19 

48andabove 5 

Section-C 

(Detailed Answer Type Questions) 

(~ '3tl<I~ ~) 

Answer any three questions out of the following 

five questions. Each question carries 15 marks. 

Answer is required in detail. I 5x3=45 
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P\9\tlfum ~ ~~-;ft it "it ~ ~ J;J~ cl) ~ 
~ , • J;J~;:r 1s ~ cfif i , mwr ~ 
~t\ 

9. Calculate Bowley's coefficient of skewness from 
the following data: 

~i:.:tifcbd M "ij fi cfj {tjt4Jldl ~ c6t Jt 01'11 
cfit~o:: 

Marks(More than) No.of Students 
0 150 

15 140 
30 100 
45 80 
60 70 
75 30 
90 14 

105 0 
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(9) 

10. In the following grouped data, X are the mid­

values of the class intervals and C is the assumed 

mean. If the arithmetic mean is 35.84, find the 

class intervals : 

p 

Pikfifcba ~ ffi if XclJl}.:rj<f cnf lftZf-~ 

~ C cfjfuqrj lff~ ~ I ~ ('.11-fl.:rj{ lfl&f 35.84 m, 

€r qJft~< ffl~: 

X-C f 

-21 2 

-14 12 

-7 19 

0 29 

7 20 

14 13 

21 5 

Total 100 



(10) 

11. Fit a straight trend by the method of least quares 

to the following data. Also plot the 

and trend value on a Graph paper: 

~9jl4x-t ffi fl 1-'1d'i cf1T fflij 

~ cf)T ~;q141ui1 -

xN1ffi ~ 



( l l) ( 
I , 

l 2. From thL' !'ollo,, ing d:.1ta, ,, hich lndcx Number do 

) ou consider approprintc !o construct and why ? 

Pr~p:.1re that index: 
I" 

I 

Ri ce Wheat JO\\ ar 
Year .,__ 

Price Qty. Price Qty. Price Qt). 
---- -

201 6 I 9.3. 100 6.4 I I 0 5.1 05 
\ 

2020 4.5' ()() 3.7 10 I \ 
2.7 d 

I 

I ' I 
,, 

. I 

1 V Calculate coc!Ticicnt or correlation bc1,, L'L'll 

<lcnsit) of population and death rate li·o111 thL' 

follm, ing data: 
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f.i9 jfcbc1 ~ fr llFH-i&-ll ~ l:1'1C9 ~ ~ G1: ~ 

lf~ B tH"P"61~ ~ ctl' 1l11"RT c61M CZ : 

Region Area(sq.km.) Population Deaths 
--

A 250 40,000 480 

B 150 75 ,000 1,200 

C 120 72~000 1.080 

D 80 20.000 280 

I 
' 

, -
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